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QUESTION 1

Which three of the following components must be elected before the Spanning Tree Protocol can converge in a
switched LAN? (Choose three.) 

A. designated ports 

B. duplex operating mode 

C. fast mode ports 

D. root bridge 

E. root ports 

F. BDPU priority 

Correct Answer: ADE 

 

QUESTION 2

In which two ways could you minimize the impact of monitoring an industrial network? (Choose two.) 

A. Send random messages to a device and see what the response is. 

B. Do frequent ping sweeps to industrial devices to check for their proper operations. 

C. Make a copy of all the network traffic and analyze it offline. 

D. Use an industrial-network-grade IDS-IPS system. 

Correct Answer: CD 

 

QUESTION 3

With a Cisco IE 2000 switch, what does a power status LED indicate when it is solid green? 

A. Power is present on the associated circuit and the system is operating normally. 

B. Power is present on the associated circuit, but there is no correlation to whether the system is operating normally. 

C. The system is operating normally, but power is not necessarily present on the associated circuit. 

D. Power is not present on the associated circuit and the power supply alarm is configured. 

E. The power status LED does not show solid green. 

Correct Answer: A 
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QUESTION 4

Why is SSH preferred over Telnet as a method of accessing a network device to alter or view the configuration? 

A. Telnet encrypts only the login information, not the entire transmission. 

B. SSH requires fewer network resources and no additional configuration. 

C. Telnet is more difficult to use and configure than SSH. 

D. SSH encrypts the login and session information. 

Correct Answer: D 

 

QUESTION 5

With a Cisco IE 2000 switch, what does a port status LED indicate when it is alternating green and amber? 

A. The port is sending or receiving data. 

B. A link is present. 

C. No link is present. 

D. There is a link fault. 

E. The port is not forwarding. 

Correct Answer: D 
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